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1. She drives her car by

Choose the correct pronoun to fill in the blank.

(1) her (2) himself

(3) herself 147 her self
2. Find the odd word out of the list of four words given below : «\

(1) teacher (2) lecturer OO

(3) professor ' JAT driver
O
3. Shiva said, I saw this film". 6\'\

The reported form of the given sentence is

(1) Shiva said that he has seen that ra\)

427 Shiva said that he had see 1@
at film.

(3) Shiva said that he hage\
(4) Shiva said th 0 this film.
4. Amaris th; :I%Eat bay.

Th afive form of the given sentence is
ar is cleverest than any other boy.
2) Amar is cleverer than any other boy.
(3) Amar is more cleverest than any other boy.
(4) Amar is more cleverer than any other boy.

5. Raghu is very poor. He is very honest.
The given sentence can be combined as

(1) Though Raghu is very poor, he is very honest.
(27 As Raghu is very poor, he is very honest.

(3} Raghu is so poor, that he is very honest.

(4) Raghu is so poor, that he is not very honest.

MEC/CEC [2]
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6. Sitaplays the veena it concerts.
_Choose the correct preposition to fill in the blanks.
(1) to . (2) with
) at (4) in

7. Can you tell me the way to the railway station ?
The given expression refers to the function of
(1) Making a suggestion (2) Question
(3) Offering help ,,-(4‘]" Seeking information OO(O

8. Virat Kohli made the highest score in the recent match. 00 .

Passive form of the given sentence is “
(1) The highest score was made by Virat E I recent match.
t Kohli in the recent match.

42) The highest score has beeg ma

(3) Virat Kohli has been m ighest score in the recent match.
(4) Virat Kohli had the highest score in the recent match.

9. The bus eacume} at9 o' clock.

Ch otrect form of the verb given in the bracket to fill in the blank.
IFcome (2) will be coming
) come (4) comes

10. The teacher is amazed at her talent.
Find the correct meaning of the underlined word.

A7 wondered (2) shocked
(3) pleased (4) struck
11. Which word is pronounced in the same way as humble ?
AT rumble A3 "bundle
(3) battle (4) cattle

MEC/CEC [3] (P.T.0.)
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12 -16 Read the following passage focus on the given five blanks. They represent
five questions based on the passage. Questions appear after the passage.

Fathertold  (12)hewasgoingto__ (13) railway station to (14)
his superior officer. His superior officer was coming to visitus and he _ (15)
be angry ___(16) father did not meet him at the station.
12. 1) me (2) my

(3) | (4) myself
13. (1) a 27 the

(3) an (4) no article is ne-:ech(O
14. (1) meet 127 receive 00‘

(3) see (4) r

15. (1) will 6@ uld
(3) is ° should
16. (1) as 5\(\\6 () if
6* (4) then

137 7so

17. John Em_ ‘6__ honest man.

I itable article.
a ' (2) an

(3) the (4}~ no article is necessary

18. Rahul said to Amala, "l want to study in Germany”.
The reported form of the given sentence is
(1) Rahul told Amala that he wants to study in Germany.
427 Rahulsaid that he wanted to study in Germany.
(3) Rahul said to Amala that he want to study in Germany.
(4) Rahultold Amala that he wanted to study in Germany.
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19. | (teach) in this college since 1984.
Choose the correct form of the verb given in the bracket to fill in the blank,
j:ia/ have been teaching (2) amteaching
(3) teaches (4) taught

20. Shirish ran the road.
Choose the correct preposition to fill in the blank.

(1) over (2) across (0
41 on O

(3) in

21. How old are you ? : 00
The given expression refers to the function of \\
(1) anenquiry : (ix@ﬂmn

(L.?J’Esking a question greeting

22, The silent letter in the wu%@t\
{1} lasi ‘b’ \(\
g GO

23. Loo nder‘fuuy ne (sing).
oBse the correct form of the verb given in the bracket to fill in the blank.

{4} first 'b'

(1) was singing (2) sings
/(31 is singing (4) sang

24, She is fat. She is active.,
The given sentence can be combined as
(1) Because she is fat, she is active.
(2) She is fat but she is active,
As she is fat, she is active.
(4) She is fat, so she is active.
MECG/CEC [5] (P.T.O.)
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gé The silent letter in the word ‘Psychology’, is

P (2) thesecond ‘0’
3 r (4) the first ‘o'
26. The Titanic is largest ship in the world.
Insert a suitable article.
(1) an (2) no article is necessary

‘LGT the (4) a @
27 —31 Read the following passage. Answer the five questions glvgﬁw.

Long ago, people had the idea that death was like a lo %p\ ut a sleeping
person breathes, his heart beats, he moves he drﬂa% will react to a touch
or a poke. A dead person does none of these thi

When a person dies, his heart stops beatigg ng stops, and the dead person

no longer reacts or responds. After de temperature drops quickly and the

skin feels cold to the touch, Théx les and may appear as bluish patches
muscles contract and the body stiffens this .

under the skin, Several h W
condition is known asri is. Later still, the dead muscles relax and the body

occur ges. As the heart stops beating and the blood stops circulating, cells
inal the body die. Celis cannot live without the oxygen and the food that

becomes limp aga%
Because 1; hmsrbody is made up of bilions of iving cells, death nearly always
! '8 Of
supplies. The time of dying can be measured in minutes, hours, or even

ay’s.
27. What does a sleeping persondo ?
(1) he breathes (2) his heart beats
(3) he moves _{4y—all of the above

28. Whai happens when a person dies ?
(1) his heart stops beating
(2) breathing stops
(3) he no longer reacts or responds

447 ali of the above

MECICEC [6]
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o9, What is Rigor Mortis ?
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Rigor Mortis is a condition when after death

(1) the body temperature drops
(2) skin becomes cold

(3) blood settles and may appear as blue patches under the skin

47 allthe above

30. Does death occur immediately orin stages ?

(1) allofasudden
(3) can't say

2T No

(1) Yes

32, !
Choose the correct form of the ¥

(1) wassaw “
MEW &6
very fas

Sunil u “"' w
% £ is used as a/an

’l'3/ adjective

34. My grandfather reads

Insert a suitable article.
{1} the
L(8) a
35. Geetisgood maths.
(1) at (2§ in

MEC/CEC

({z*ifin stages

(4) none

<3N

31. Can cells live without oxygen and food ? 00
(3) Panﬁ&.\ Can't say

(see) the film yesterday.

%gin the bracket to fill in the blank.

X&] has saw

(4) -had saw

(2) pronoun
(4) adverb

Bible everyday.

(2) an
_{47 o article is necessary

(3) on (4) from
(7] (P.T.0)
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36. Jyothi dances well, ?
Choose the appropriate question tag to be inserted in the given blank.
(1) doesn'tshe? (2) doshe?
(3) didn'tshe &) doesshe ?
37. The silent letter in the word ‘womb’ is
(1) w “22r o (3 b (4) m
38. Identify the correctly spelt word. (0
s n:::::nhern;:u'.:nr;;lrz.lr . (2) contamparary O

(3) -:r::ntarn;:nam:m,.»r (4) cantempﬂra“ O
39. Pramod is a refined person. 6“

The opposite of refined is
(1) cultured (2) crude 6&) uncultured  (4) civil

40. Ident[ty the correctly sp

/(/i‘j university iermination  (3) atheletics (4) chompion
4i. Heisangi m%achelc-r
ans
n unmarried woman : (2) amarried woman
A3an unmarried man (4) amarried man

42, Mo seal is available.
The opposite of available is

(#) unavailable (2) nonavailable
(3) full (4) reserve
43. One should respect country.
Choose the correct pronoun to fill in the blank.
L one's (2) his (3) our (4) her

MEC/CEC (8]
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44.  Find the odd word out from the list of four words given below.
(1) apartment (2) flat (3) house 447 plot

45. Ravi played the sitar ....... ?
Choose the appropriate question tag to be inserted'in the given blank.

(1) doeshe? T does she
{3} didhe? (4) didn'the ?

46. Shail we go on a picnic next Sunday 7
The given expression refers to the function of (0
(1) help j,2j’ question (3) invitation & @Qﬁnn

*

47. Fohan ate many sweets. 3{'\0
Passive form of the given sentence is 06
(1) Many sweets were eaten by Roha 0
(2) Rohan eaten many sweets.”,
{3y " Many sweets are eal% an.
(4) Many sweets wereatedy Rchan,

48. The Que at&_the King.

. ;
Gr@\ﬁnnect preposition to fill in the blank.
‘igk sides -GE( beside (3) at (4) on

49. Rohit (get) first class in his X examination.
Choose the correct form of the verb given in the bracket to fill in the blank.
(1) is getting (2) had got MEts (4) got

50. The moon _ (shine) in the night.
Choose the correct form of the verb given in the bracket to fill in the blank.
(1) shone (2 7is shining (3} shine (4) shines

MEC/CEC [9] (P.T.O.)
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MATHEMATICS
51. ~(p=q)=
(1) ~(prq) 2427 pa(-q) @) pv(-a) (@ (~p)vg
52. fpv{gar)=(pv ) a{G.i) tieniis caiied
(1) Commutative Law __(2y Distributive law
(3} Identity law ; (4) Demorgan’s law O((\

pvi(qar)=(pv gl a(gar) ecod ok ooy Brpiech
(1) Disondmyabin (2) 35@9

(3) ipimyno peiises A OIRa
e? 66\(5

53. Inthe following, which is tru
B2 o8 ad DO n:@m:; ﬂ

{1} 3+7= (2) 3x7=10 & 1x3=73
1@+2 3 (4) 3x7=8<1x2=2
mf B _A2r'B-A (3) A'—-B (4) A-B

55. If f(x }_’“—” thenthevaluanff{fo[ ]

(1) 1 4270

(3) ~1 (4) Notdefined

(1) 1 (2) 0 (3). —1 (4) Doz

i) = X st 100+ f (; ] e,

MEC/CEC .o
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56. Find the Inverse functionof f:R—{2} —» R - {1}, defined by f(x) = X+ 2

X —
f:R—{2}=>R-{1}, f(x) = “z o f £ D655 gxloako.
x—
%= X+ 1
1 2 .
M 2y @ %=1
=2 v —1) cen 20X+ 1)
{“)
X+ 1 ¥ =1
57. Givenf(x)=x—-1g(x)=x*-2h(x) =x*- 3 for xe R. Find {Hng]a&@
Y X5 - 6% + 6 (2) X*+6x+6

(3) x*—Bx*—6 (4) None O(\
fx) =x—1g(x)=%*—2, h(x) = x* -3 KEHQ Xﬁg}nh}{x; 9535,
(1) x*-6x*+6 Bx® + 6

*
(3) x*-6x*-6 \(\\6 (4) 98z
8. (x+y, 1) =(3 —-%‘é&vatuem‘:andy

; (x+y, 1) 6 X, Y Deosen Seosm

AN (2) 1,2 (3) 2,1 P
" the roots of the equation x*+ x (c=b) + (c—a) (a-b)=0
X¥+x(c—-b)+ (c—a)(a=Db)= 0wy, saroes.

B () c-ab-a A2 c—a,a-b
@ (3) a-c,b-a (4) a-c,a-b

50. ::ind the value of m in order that x* — 2x* + 3x* — mx + 5 may be exactly divisible by
2 (x-3)

B X' -2x 4 3 —mx +5, (x - 3) B Thsom srAh M Deos
B (1) 584 % (3) 694 (4 7%

[11] (P.T.0.)
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61. 143 +5+...=n"term of the series. L=

1 +3+5+....‘[§c:¢*n;5::¢5cTn=

(1) 2n+1 @ 2n-1 (3) 3n+1 @ 3n-1

w Y

o

62. Middle term in the expansion of [;+ S J

.m/ﬂc., (2) 8, (3)

(n—r)! “orin—1)
N n
r{n=-r)! (4) THin-n!
64. Equation cf the X-axis
X- ko Sloseso
Y g i x=1 (3) y=0 (4) y=1

65. The line y = mx + ¢ meets Y-axis in the point
y = MX + G Bg Y- agd podcd Dot
(1) (0,0) @ (¢, 0) @) 0,0  _f (-c,0

MEC/CEC [12]
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.EE- ;f3“3=9“1thenvaluenfx R
8743 = 9%+ ead X Dewid ﬂ,,*‘ .
o . @1
B 5 [41 None (S6zs)
625\
67. Value of [ﬁ]

3

[525 ]T e C

256

() = Mé@\\

|Ew‘ﬂﬁv¢¢a |
@ <xs5 ' 7({}-—25!{::5
3

e ) —2=x=5

o s e
69. Evaluate Lt ¥1+X+X —1
X =0 %

Lt _1+;-:+:n:E ~1 mes
¥— 0 ¥

1
i @ ; 8=z (@) 1

'MEC/CEC e 18] (P.T.0)
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70. Find the limiting position of a secant of a circle

(1) Chord (2) Normal _{87 Tangent (4) Diameter
2.8 Syt e Cap e _
':” =5 [2:! esfince Dy {3} 75%53} (4) e

71. It 7 times the 7" term of an A.P. is equal to 11 times the 11n term. Then the 18"
term is
mu;@*rﬁ“?:mﬁﬂm?ﬂm 11 5 Se550is 11 B isirmmos, u@‘éﬂﬂﬁ“&

A0 2) 1 (3) 18 (4) 1

72. Find the sum of the first 100 natural numbers 0 3
L
00ed 100 e Sope Do )&\O
(1) 505 (2) 50 @@ (4) 50505
73. Find the value of ‘¥’ so that — -‘ e three consecutive terms of a G.P,

-2 —?
=% ﬁmaa & 10id ‘X Dend

n:ﬂ\é@ 6 @ 1
@ i

X -3 3 =3
74. Find the S_, for the G.P 416" Ba
4 '16' 64 23 |Ete L9008 (30 Doodto
3 -3
(M 3. ; N5
2 oy
x e ——
@) 3 ; (A=

MEC/CEC [14]
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75. The AM, G.M and H.M of two numbers are A.G.H respectively then
Dol &% Bogge A.M, G.M, H.M o saiism A.G.H oo

(1) A>G=H (2) H2G=A
(3) GzH=A I A>G=H

76. There are 'n’ arithmetic means between a and b. The common difference 'd’ is
a 3000000 b & 508 'N’ woiodigiTes dod) Tl Srrosdiin sowd 'd' e

m 2 A o
@ | e 0(\0

77. Itd,, d, are the Geometric means between @%w thatg, g, =
a, b ool rﬁmijnﬁg:umde dEEJJE' ; :ﬁ 0555

41 ab V@ %
@ b 6\(\6\(\ (4) None (oéses)

78. Ina Tria K% if the internal bisector of | X meets YZ in P, then
Doos), SoBpodts By YZ 5o P i 50

[15] (P.T.0.)
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79. AABC is an equilateral triangle M is the midpoint of BC then A BMA is a/an

éf")fhfgm angle (2) Obtuse angle
(3) Acute angle (4) MNone
A ABC isisoeriy @gbeso BC Sag; wotisp M enoss A BMA
(1) eowfec (2) eass'eo
(3) exfemo (4) Sbzen

80. The length of the tangent drawn to a circle with radius ‘r' from a pnfr@@ is
'd’ cm away from the centre is O

L 2
' TgrgonT o SRt Boo moed 'd’ 2o, Ao, Hrtied’ r:g. Moods Actbeads it
D SPCES Q@
| TR i w Bt
/H"/"ulj r 5 66 4/d +i"'g
(3) Jar 6‘(\\ (4) Ja+r

81. The slope of Iir%& diculartotheline 5x —=2v+ 4 =0is

5X — Ey! Ovesiic Cpth wonom® Mo OgaTes

I @) 2

-9 /m/Q
3) % 4T 5

82. Findthe co-ordinates of the centre of the circle having the points (9, 3) and (1, - 1)
as end points of the diameter.

(9, 3), (1, = 1) Docaigpes g 5 Dodooa LORS Synid Soto

(1) (1,8) ) 6.1
@ (-9 @ (5.1
MEC/CEC = [16]
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83. 1f(3,-1), (2, 6), (— 5, 7) are the mid points of the sides of a A ABC. Find the area

of AABC.

Sebee ABC goere B0 Docarpes St (3, — 1), (2, 6), (= 5, 7) saxd Sgoee ABC
e :
(1) 24 (2) 48 A3 72 (4) 96

84. The equation of the line making an angie 150 with ihe positi

and making Y-intercept is — 1 0(0

X- egod’ gmo,s &85° 150 umﬁ % Y- et pocio— 11 MBS 0w E.sémw

M1+u@ y++43=0 : (2} “x - JB&\@: :

X=+3 y+4/3=0 (4) Vv3=0
85. A wheel makes 360° revolution iqn@@ 7 Though how many radians does not
turn in one second \
£ B\ 0.8 Dluspd” BED"@MLJ;&? natied” wd St SdaiSen

o

(1) 10m () On (4) 12

)

B6. Ta \ﬁ ° . Tan 3" ... Tan 45° .... Tan 88°. Tan 89° =
) (2) .1 {3 -1 (4) 2

87. sin % & sin E% =

V3 41 431
(m ¥ @ S
fa
Ay s 2
2 2

MEC/CEC [17] (P.T.O.)
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88. If 5sin A = 3 then the value of sec® A —Tan® A

558in A =3 eovd sec A-Tan® A Do

(1) 0. (2) =¥ (3). 1 4y 2

m+n -
B9. sect= then sin § =
E:HTI["I

n ol
@000 §in B Joo O®

sec =
Euﬁ O

P{fm

+n
mn

(2) m+n (3)

90. Find the value of cos 240°

cos 2407 Jess 6\)
M > @ 1%‘(\\6 i 2 (@) -2

91. Histogram mr@@*
s ME{:IEHQIEE

@ iangles (4) Squares

e o8 el 28 oty
(1) gty (2) &5 ssutEres
(3) Wegberen (4) ddosRres

92. The mean of 10 observations is 16.3 by an error one, Observation is registered as

32 instead of 23. Find the correct mean

10 eo¥iue B 16.3 ¥ woto Juois 23 4 acheorr 32 el Sy @Fobods eowd $00bS

(1) 151 (2) 15.2 (3) 15.3 4 154
MEC/CEC [18]
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93. Letthe values of a variable be 30, 5, 21, 42, 13, 10, 27, 33, 17, B. Find the median
2.8 Seod Deose: 30, 5, 21,42, 13, 10, 27, 33, 17, B.ecund 70 Sog5;so

(1) 16 (2) 17 _48) 19 (4) 18 \
94. For a given data mean is 39, median is 38 then the mode is » . 5&\
&5 Sorc¥oisth esol Hodiiusan 39, Sogsso 38 e o) erarodlio . 8

.

1T 36 (2) 37 (3) 38 (4) 39 :

3X + 2¥ 6 S R e O(O
: = find x and
i [ 3o —SJ [2 B] 2 @)

\)
[geaoy G EE Bk @‘&tu\'
| 2 2x~3y}_{2 B]Eﬂxd
(1) x="1ty=2 \({\ @) X= 730 V=2
o

96 Gi extha*t A= [“i ;] B= [ﬂ Find Matrix 'P’ satisfying AxP =B

A =[1E ?] 8- m s0:5 A x P = B 8y 563 305 ‘P’ deod

=
4 [1 6 112
103 |2 5} @ 703 [E 5|
1 [2 5 Wk b e
@) 703 |1 6 4 103 |5 6]

MEC/CEC [19] (P.T.0.)
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cos® -—sin®
sin® cos@

IS

97. Determinant of

cos0 -sind|
: gl Ded
sin®  cos@ |

) 0

98. IfB= |:: ﬂ then B + B! value

(2) 1

B=[: §1M5+B-1mm

(1)1 (2) 21

99, C.P. U. consists of

\&
(1) Central Processing Un‘g\\

(2) Computer Procaggifg it

(3) Control P%éan Unit

R
@&. >

s S asdoh cxares
(2) soyseob @atoh abrel
(3)

S5’ @toh abrel
(4) =

Find the value of Tan®45° + 2 Tan?® 60°
Tan® 45° + 2 Tan® 60° 2eos

(1) 6 27

100.

AV

Q. Booklet
Code

o= (4) Tano

o

G
{\:(\ ‘

{EJGF& _f a1

(3) 8 (4) 9

MEC/CEC [20]
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SOCIAL STUDIES

101. Paris Commune was eslablished in the year
OB E50775S OEI000S oS
(1) 1830 (2) 1848 _(3y1871 . (4) 1891

102. Carbonary was started in
(1) Prussia (2) Naples (3) France (4) Vienna

“EiS0" Ertogiiionns Droto (0
(1) @y (2) %96 @728 4) %Q
. L 2
103. “History was nothing but a record of a class strugglx@: ted by
(1) Aristotle (2) LouisBlanc (3) . (4) Hitler

50 wodd HEFTrDE Bohs O3 B 5 % ool T
AT byl | ‘\6 2) eronberok

(3) =B,

(4) ed

104. Napoleon was@a&med in this war

(1) Lej * (2) Waterloo
d War - | (4) World War — I!

1 o5eR (2) Tetr
(3) Toocsed o alugo (4) Tocs ot oxugo
105. One of the following is not Balkan state
(1) Bulgaria (2) Serbia (3) Bosnia {4y ABustria
Bob )" eroy a0 570
(1) wgbar (2) #Geur (3) STy (4) espatr

MEC/CEC [21] (P.T.0.)
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106. The ruler of the Egypt that who sold his shares of Suez canal to England

(1) Ismail Pasha (2) ArabbiPasha

(3) Mustafa Kemal Pasha (4) Abdel Nasser

RAE Seud THrei SOt el Sl Srets

(1) smoadrde (2) essiy=r
AT sodPrad (4) wepdoab

107. Pan-Slave movement was encouraged by (0
(1) Germany (2y”England (3) Russia (4) 6®
eaflotr) ST SFeireliTn:

(1) a5 (2) ool (3) oy ’{'\O% w5
108. The English settlers in South Africa were E!I@@

(1) Qutlanders [(2Y. Boers utch (4) Inlanders

Sirrpsd HUsds $elSoel & 20 @Q
(1) BeSeroch, E%& : (3) &5 (4) aseoech
i

109. Under Hitler's @ p rule, the famous scientist who ieft Germany was

{1]\Wn§t&in (2) Newton
@ illian Kary (4) Alexandar Fleming

\?:FE-E Nao@is Fors st By 56D DS Sers THG

(1) eobnshs (2) argeas
A3 D8anSie (4) edrpost oh
110. ‘Iskra’ the Newspaper of the Social Democratic Party was edited by
(1) Keransky (2) Karl Marx 43T Lenin (4) Hitler
TS E20eredS rd 5HE mowS 'FRET & HoEto SIFOIN T
(1) sy (2) =5l (3) @as (4) b

MEG/CEC [22]
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111. The country that was called as the granary of the Far East

(1) China (2) Japan (3) Korea (4) Manchuria
SIS 2 mﬁﬁcﬁ*mma&
,(’ﬂ” g (2) edrs (3) searr (4) svonreor

112. The extension of Truman Doctrine was
(1) New Deal (2) MarshalPlan  (3) MaltovPlan {4) NATO
[ bts] ::-m;cﬂ“:iéi‘-c‘}.ﬁc@
(1) =o5ds (2) srEEXS (3) :5..“{::5:'.1',5

113. The Mathura School of Art got inspiration from thf;Q

¥ Buddhism (2) Judaism &Sp&

236100 Sy Sopiraibo He S0B0 n'.“a:r::d |,_

(1) eregmoso (2) uacé\ (3) essoso (4) e s00

114. The huge Erihadqa mple was located at
2) Mahabalipuram (3) Chidambaram (4) Jaipur

) Sikhism

(2F Serebioso (3) Dscedo (4) @56

115. The first session of Indian National Congress was held al

(¥ Delhi (2) Nagpur (3) Pune i4) Bombay
L Baossed erot erdial STofin SBraEo sdin grobo
(1) &8 (2) =nygd (3) = (4) Soaron

- The Rowlat Act was passed in the year
B 705 ep S SoSHoo
g (1) 1919 (2) 1920 (3) 1921 4)1922

[23]
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117. The people who were the first Europeans to come to India but the last to leave

India were
'{1} French {21 Portuguese
(3) British (4) Dutch
AT Aaaciedr 53 SO SO0 Y IO
(1) Foi=e (2) Fapftwe (3) QI (4) &&re:
118 The Swara) Party was formed by
(1) C.R.Dasand Gandhi 427 C. R. Das and Tilak O(Q
(3) C.R.Das and Mothilal Nehru (4) C.R.Dasand Ambe arO
seorel ) ez ol &

(1) C.R. b oo ok
(3) C. R. o5 So0oko arderd DT

119. The name of the Russian Paﬂ.@e
(47 Duma 6 Congress
(3) Peoples l&% Reich Stag

xH-'-.'E,w'
(2) sof™
& Euvinefh, esTacl) . (4) &SR
120. August Offer was declared by
(47 Lord Mountbatten (2) Lord Rippon
(3) Churchill (4) Lord Linlithgo
esig, EEITHR Erdods ot
(1) obsroleres (2) ebomns
(3) “&d (4) o5asosN

MEC/CEC [24]
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121. Gandhiji started the Civil Disobedience Movement in the year

rrobid ?F‘;.Egen:-nzsﬁﬁfrgiﬁi":%'z rtoflol Nodthtic

(1) 1919 (2) 1921

(3) 1930 (4) 1942
122. Andhra Pradesh has the coast line of

oA Ko 85 0p PEY

(1) 1006 kms (2) B00kms

(3) 872kms (4 972kms (0

123. Gurushikar Peak is situated in

(1) Himalayan Mountains (2) vmwix}?
(3) Eastern Ghatts (4) A tains
FossheE Bpdo N B 0

(@ rirect ST \)‘ Dot ST

(3) oty Sdsions \6 (4) esorsd St

124. Before joining th @ngalthe Brahmaputra joins

} Indus Hl (2) Narmada River
Hwar (4) Mahanadi

@» Bod® FonarDA Swodh BINHErED &1 508 Sookod

(1) fogrsd (2) s

(3) =omsd (4) o0

125. The older alluvium is calied as

(1) Terai (2) Bhabar

A3 Khadar (4) Bhangar

e ot BooTl o

(1) oo (2) erwb

(3) ared (4) gorb

MEC/CEC | [25] (P.T.0.)
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126. Teakis abundantly grown in
) Tropical moist deciduous forests
(2) Tropical wet evergreen and semi-ever green forests
(3) Tidal forests
(4) Thorn forests

35 Sygreo Prec™ DD edereo

AT Eiooie BT SF0D ey BGRE

(2) eootie B5eE Srds MO 2001 B KIS OB eipe (0
(3) ok eacsHeo O
(4) Dadherd wdpes O

. AN
127. Benefits of this preject are sharing by India and \O
(1) Ram Ganga (
andak

\ g

/{‘Jj"' Bhakra-Nangal Q
51 GrER dood eficd @Dl“ﬁ%@ Gren aSndn JrothinTyon
(1) oShor 6 (2) 5%

9 ogsons 6\(\ (4) rocE

128. Blue 1&5 related to

(2) Foodgrain

) Milk (4) Apples
B Jgisc BOE Howsfoiss
(1) Swes (2) g
(3) ares (4) e
129. Lime stone is the chief raw material for this industry
(1) lron-steel (2) Paper
(3) Synthetic textile ~{4) Cement
STraR0 RGP BaGHhRT e S0iL
(1) goso ety (2) shoo (3) hogeEsdes  (4) Roodd

'MEC/CEC [26]
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130. The Headquarter of the Southern Railways is located at

(1) Chennai (2) Mumbai

(3) Bangalore (4) Secunderabad
&8 D Sootivo k), BTN S03red Soge Mo Bio

(1) =& (2) Sowcwom

(3) Borr S (4) Rfoperdl

131. The rank of Andhra Pradesh in the level of urbanization is

Code

o

st o’ esoEtd JrNo
O“} 5

(1) 2 (2) 3 \
132. The biggest port in terms of seabnrna
(1) Murnbai (2) Che (3) Cochin

(47 Vishakapatnam

e Ao B
(1) Swowam 6% (3) E'{D.S (4) R RPIEIE0

e AIE") Edy, e 00 Gy, SoTE0 1 B8 ST E0E Domin Sabedod

(1) ©exs (2) eaqﬁ (3) d:);; (4) U.S.A.
1234. Kalahatti waterfalls is situated ai

(1) Tirupathi  _2) Mount Abu (3) Simla (4) Ooty

Hore] eseidrto fio Erolo

(1) S5SS (2) 5TceSenr (3) sz (4) &aed

MEC/CEC [27]

a‘Steel Plant in Odisa was built with the collaboration of

(2) Germany (3) Russia (4) US.A.

(P.T.0))
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135.

136.

137.

Code

>

The language that is spoken by 8 crore people and ranks 16" in the world is

(1) Tamil (@) Telugu (3) Guijarathi (4) Malayalam
SE‘L,; £x 50008 ok ESouBod el 169 ared’ o i,
(1) svo (2) Baord (3) e (4) sweorreo

The Governmental power is divided and distributed between the Central Government

and the State Government is known as (0

(1) Secularism () Federalism

(3) Social justice

(1) résbio

(3) PrarasTyee ‘\

15" General Electi I%i the year

155 ordin 383 Soisyio

(1 - (2) 2004 42 2009 (4) 2012

1%N’he country that has the largest number of illiterates in the world is

139.

(1) India {2) Bhutan (3) Pakistan (4} SriLanka
gmﬂ@uéacn@mawmﬁﬁﬁm
(1) groadso (2) girers (3) &S (4) Bect

The Article that prohibits the employment of children in hazardous work as in
some factories and mines is

s, Moryond! BB iS008 S0 ook AT AOBE ) DhBolls upss
@y A7 (2) Art. 21 (3) Ar.24 (4) Art.35

MEC/CEC [28]



A : a ook B\_\]

140. In this conference the non-aligned nations gave a cell for NIEO

(1) Delhi (2) Dhaka (3) Algiers (4) Tokyo
NIEO a0, esiscra 10800 el e surdvo
(1) &0 @y &= (3) 2% (4) &%

141. The number of Commonwealth Nations are
siSad Bre oy

(1) a4 (?) 53 (3) 52 (4) 51 (0

142, National Conference is the regional party of this state

(1) Andhra Pradesh (2) Punja
(3) Jammu and Kashmir {#] né)a

W35S S0, B4 Tiged T @robol 9
(1) wogsds \6 2} Soere§
(8) essoom So0ak 573 6“ (4) oo
143. The first coun raised the issue of apartheid in the UNO Assembly was
(1) SeuttMfrica (2) Brazil (3) Germany (4) India
PSR 5T SO ESRGoN Douiel o
CEFTys (2) @ad (3) =59 (4) eroodeo

144. One of the following is not a Employment Generation Programme
B0 T8 &0 o SR B0
(1) RWP () NREP (3) SFDA (4) MFAL

145. “Self reliance” was declared as the main objective of this five year plan
“ipao SEoyg"” THOTONS S Sobsl PerdE B of o
(1) 1 (2) 2 (3y 3" (4) 4n
MEC/CEC [29] : (P.T.0.)
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146. The East India Company captured the political power in the year

Badololr 8od eialrfsor Dot St
Yy 1757 (2) 1857 (3) 1864 (4) 1905

147. Modernisation represents employment of work force in

(1) Primary sector (2) Secondary sector

(3) Tertiary sector (47 Secondary and tertiary sector

53 Gotod Fe2oEEs aE Soys a0 et SN Fogowsiy (<\
(1) @reesdolo : (2) Bghowton

(3) pdem toifo (4) &g @‘m tomres

148. The Five Year Plan that was introduced W

E-ampJﬂ;aéﬂmfbuﬁ:Ji*” o] §ma
(1) @ 4'”\(\\ @ 5" 4y 6"

149. One of the fnllmmpa main rabi crop
(1) Ric {27 Wheat (3) Groundnut (4) Bajra

ﬁmﬁ o) 2ok
(2) Rigosn (3) Stow (4) =g

150. The person who first distinguished between involuntary and voluntary unemployment

(1) J. M. Keynes (2) Adam Smith
(3) Amarthya Sen (4) Robinson
e TITy R, Hphed DS YT Sl Ao it BoDTEr s

(A1 J. M. 45 (2) essSofyd
(3) esmagg o (4) oS8

MEC/CEC [30]
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